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�น�วยท�������ศษ��วน��ล�ก�รบวก�ก�รลบ�ก�รค�ณ�ก�ร��ร�ศษ��วน
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�น�วยท�������ศษ��วน��ล�ก�รบวก�ก�รลบ�ก�รค�ณ�ก�ร��ร�ศษ��วน
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�น�วยท�������ศษ��วน��ล�ก�รบวก�ก�รลบ�ก�รค�ณ�ก�ร��ร�ศษ��วน

3. 5 2 ÷ 1 8 + 45 10 9
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�น�วยท�������ศษ��วน��ล�ก�รบวก�ก�รลบ�ก�รค�ณ�ก�ร��ร�ศษ��วน

4. 1 3 + 5 � 1 28 6 5

�

ฝ.�.��/ผ.��



๗๘ ���������������������������������������������(������

�น�วยท�������ศษ��วน��ล�ก�รบวก�ก�รลบ�ก�รค�ณ�ก�ร��ร�ศษ��วน

5. 3 3 � 5 1 + 27 4 3
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�น�วยท�������ศษ��วน��ล�ก�รบวก�ก�รลบ�ก�รค�ณ�ก�ร��ร�ศษ��วน

6. 8 1 ÷ 1 1 – 33 4 10
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